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TOURISM ADMINISTRATION AND MANAGEMENT
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

Eco-Tourism is a form of the following :
(A) Mass Tourism (B) Alternative Tourism
(C) Sustainable Tourism (D) All of the above

Who was the original founder of American Express ?
(A) Mark Twain (B) Henry Wells
(C) George Pullman (D) Sir Freddie Laker

Allocentric tourist destinations deals with what attraction :
(A) Newly explored tourist attraction (B) Developed tourist attraction
(C) Undeveloped tourist attractions (D) None of the above

IATO stands for :
(A) International Association of Tour Operators
B) Indian Association of Tour Operators
) Indian Air Transport Organisation
D) International Air Travel Organisation

WTO was founded in :
(A) 1974 (B) 1975 (©) 1976 (D) 1977

Match the countries and National Park :
(i) Chitwan (@) Tanzania

(i) Mt. Cook (b) New Zealand
(iii) Wood Buffalo () Nepal
(iv) Serengeti (d) Canada
i i iii v
(A) c d a b
(B) c b d a
© a d C b
(D) a b c d

Who founded the organisation which created the World’s largest theme parks ?
(A) Walt Disney (B) Thomas Cook
(C) Steven Spielberg (D) Sir Freddie Laken

D —-9304 2
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(A) Hmfed T (B) Sehfeqsh g
(C) kTl e (D) ST |t

2. TR UoUH ohl STdfcieh HETIeh hid o1 ?
(A) ko (B) & e
(C) SISt garid (D) ¥R HE TR

3. %9 YR & v § Tededs ek el g Wl o
(A) T sty fohT T e R (B)  faekfad weesw sTeRum
(C) eiforfaa weiesh STRET (D) 3SHF FIE Tl

4. IATO T U™ T :
(A) IR THIEIRE 31F X AT (B) =fUeds THIfGATH it T sifqeed
(C) 3fUea wer 2o aiffi-rgsrerd (D) TUSHAYHE TSR g SATTESIIH

5. WTO el T g3 o1 :
(A) 1974 (B) 1975 (C) 1976 (D) 1977

6. Trfafed v o T ueh @ fien

() Teded (a) TSI
(i) TSE Fh (b) =Seive
(ili) IS Tl (c) U@
(iv) SO (d) HATE

i ii ii iv
(A) C d a b
(B) c b d a
© a d C b
(D) a b C d

7. fova & 9oQ s ofiureh ' o9 arel TS ohT SR hie o ?
(A) dree fesHt (B) o199 Feh
(C) Hiror wieteri (D) R gl ok
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10.

11.

12.

13.

14.

15.

16.

Match the Countries with their Heritage attractions :

(i)  Acropolis (a) Spain

(i) Coliseum (b) Italy

(iii) Cordoba Mosque () Greece

(iv) Mont-St. Michel (d) France
i ii iii iv

(A) a b C d

(B) C b a d

© b C d a

(D) d a b c

Nanda Devi Biosphere reserve came into being in :

(A) 1980 (B) 1970 (©) 1990 (D) 2000
‘Lothal” is an upcoming archaeological tourism attraction famous for :

(A) Temple (B) Fort (C) Palace (D) Dockyard
Which of the following is the World’s largest hotel Franchise system ?

(A) Best Western International (B) Holiday Inn World wide

(C) Hospitality Franchise system (D) Sheraton International

Which of the following organisations decides the classification of one to three star hotel

property :
(A) Department of Tourism, Govt. of India

(B) FHRAI
(C) State Tourism Department
(D) ITDC

With what type of accomodation forms ‘Inns and Taverns” were associated :
(A) Budget Accomodation (B) Elite and Budget Accomodation
(C) Supplementary Accomodation (D) None of the above

Bermuda Plan (BP) for the hotel tariff include :
(A) Room only and no meal (B) Room and Continental Breakfast
(C) Room and English Breakfast (D) None of the above

Categorisation of hotel accomodation by type and range of facilities and services is
called :

(A) Hotel Registration (B) Hotel Classification

(C) Hotel Grading (D) Hotel Checking

Which of the following Indian Airport is the preferred entry point of Middle-East Asian
International tourists :

(A) Mumbai (B) Hyderabad

(C) New Delhi (D) None of the above

D —-9304 4



10.

11.

12.

13.

14.

15.

16.

=1 <9l ol 34 Heifyd eliet eTeRteh i fe :

() THYUIfe™ (@) A

(i) ISR (b) sl

(i) RS AREIE () =

(iv) Hic e iFa d) Wi
i ii iii iv

(A) a b c d

(B) C b a d

©) b c d a

(D) d a b c

a7 et Sifer Huer & e 1fiqe o st ?

(A) 1980 (B) 1970 (C) 1990 (D) 2000
R T STHH o & H 39T gl A ‘o’ fRd & o ufag €2

(A) #fR (B) foem (C) ¥« (D) <TTR
Frafafea & 9 o fova &1 ged o1 eea o usfa € ?

(A) TR L TREA (B) Bicle T Ice a%S

(C) wredieetir e fawen (D) 3NEM TTEIEA

T ¥ I faar Sreat ufafaai w1 anfieror fr=fafead & 9 i Sied o § ?
(A) T faum, 9RA TR (B) TH.TA.3TNTIE.

(C) i TR & e faum (D) STE.IELH,

‘58 e ToE’ TR YR W ST YR § Geiftd €

(A) S IE™ (B) WEiepy 3R TS 3Ta™

(C) T 3TE™ (D) ST HIE Tl

BIed T 3T ael @i’ (BP) H wfHa ©

(A) Had HIT I TISH TE (B) U o HETEIU STeUER

(C) HHT T SIS STeT_R (D) SWH HiE &

arrstl, Giaeneli 9 TR o STMHR W I ST TRl FHel Sl §

(A) et HfiehToT (B) Bred Sfiehvul

(C) TIea Jofiehtor (D) Brea i

e TRMERE TS Wil # 9 § o & A S agaad 9o dehiyd gaw
EWR:

(A) T (B) TETEE

()  feait (D) SWH HiE &
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17. Sanauli land entrypost receives inbound tourist visitors arriving from :
(A) Bhutan (B) Bangladesh
(C) Nepal (D) Pakistan

18. In which country the high speed train TGV (Train a Grande Vitesse) be found :
(A) Japan (B) Spain
(C) France (D) Canada

19. IATA has divided the World into how many traffic areas :
(A) Nine (B) Six (C) Five (D) Three

20. Which of the following is described a transit passenger ?

(A) One scheduled to travel on the same vehicle to its final destination
B) One who changes vehicle to continue a journey for a connecting service
One who breaks a journey at an intermediate point

None of the above

21. In how many states Budhist Circuit has been planned to attract Budhist tourists :
(A) U.P., Bihar and Orissa (B) U.P., Bihar and Uttranchal
(©) U.P, and Bihar (D) U.P., Bihar and M.P.

22.  Which of the following agency fix up the international cargo rates for exporting
dangerous goods :

(A) DGCA (B) IATA
(C) ICAO (D) None of the above

23. Govt. of India introduced international flights in 2003 for Singapore from which of the
following town :

(A) Ahmedabad (B) Jaipur
(C) Lucknow (D) Bhubneshwar

24. What is the time variation between two longitudes :

(A) 5 minutes (B) 6 minutes (C) 4 minutes (D) 3 minutes

25.  Which of the following travel product usually generates the highest rate of commission
for travel agents :

(A) Airline tickets (B) Hotel reservation

(C) Travel insurance (D) Travellers cheques

D —-9304 6



17.

18.

19.

20.

21.

22,

23.

24.

25.

ST iesh Tl YfH Jos §R ¥ Y9 W ©
(A) 9H (B) STcATe™ (C) Ut (D) TIfREa™

a9 drg fd ¥ "o areft W TGV e 3o 9 Heifed €2
(A) <TUH (B) ¥ (C) T (D) e

fova &1 IATA 7 foran aftee wii # fawnfea foran @
(A) (B) ®: (C) (D) =

1 H 9 fRg iR T A e S © 2
(A) =% 6N S TR 1o Sifem Mo T A o7 ot ared 9§ @ S S

(B) o1& AL Sl 37U AN vl G T B e areit a1 st bl sqel Y 379 3ifam
T T T IEodl T |

(C) =% aE S et A T IR SToT A TIfiTd R 3 §
(D) SR H HIE &

Sifgeh Teieshi I TaRftd & fag foram idl # Sifgs aftuy Freifsa fmd ™ &
(A) 9, foer, iR S (B) I, oo ik sw=a
(C) FHh. IR foR (D) 9., foRR TR T, 9.

WA axgei & Fafd @ e saige e ) e § 9 SF Hed 9 R
(A) DGCA (B) IATA
(C) ICAO (D) ST IS &l

frefafed § 9 ffg Tt 9 ad 2003 § fHMQR % faT 9Ra TR 7 STais 3eH ¥E &l :
(A) STEHTES (B) SHEX

(C) TS (D) Ye ¥R

T T o o H W ST o g ® 2
(A) 5 e (B) 6 T (C) 4 e (D) 3 fae

frafafea § 9 e 9 3d] 9= 9) 9 9ol SI1e Sollell Uiaed gfdaire sl 9er
ETCIRA

(A) TR feshe (B) T STR&IT (C) fEe s (D) e Ak
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26.

27.

28.

29.

30.

31.

Assertion (A) : The major characteristics of services, of not being seen, tasted, felt,
heard, or smelled before these are bought are known as service
intangibility.

Reason (R) : A major characteristic of services, these are produced and consumed
at the same time and cannot be separated from their providers, whether
the providers are people or machines is known as service perishability

(A) Both (A) and (R) are true and (R) is the correct explanation

(B) Both (A) and (R) are true, but (R) is not the correct explanation
(C) (A)is true and (R) is false

(D) (A) is false and (R) is true

Customers go through five stages in the process of adopting a new product in an order
as :

(i) Interest (i) Awareness (iii) Adoption
(iv) Trail (v)  Evaluation

(A) i ii v iii iv

(B) i i \ iv iii

© i iv i iii v

(D) i ii iii iv v

Match the following :

(i)  Existing products in the existing markets (a) Market Development
(ii) Existing products in the new markets (b) Product Development
(iii) New products in the existing markets (c) Market Penetration
(iv) New products in the new markets (d) Diversification

i ii iii iv
(A) C a b d
(B) a c b d
©) b d a c
(D) d C a b
To fix the price of Rs. 99.95 of an article instead of Rs. 100.00, is a policy known as :
(A) Customary pricing (B) Promotion pricing
(C) Psychological pricing (D) None of the above

The person of the family who senses the need for the purchase, known as :
(A) Influencer (B) Initiator (C) Decider (D) User

The process and the result of interaction between different cultures is described in
sociological terms as :

(A) Acclimatization (B) Acculturation
(C) Familiarisation (D) Naturalisation

D —-9304 8



26.

27.

28.

29.

30.

31.
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(A) i ii \% iii iv

(B) i i v iv iii
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32.

33.

34.

35.

36.

37.

38.

39.

The contempt, dislike or fear of strangers or foreigners or of strange or foreign place is
called :

(A) Agoraphobia (B) Alienations

(C) Claustrophobia (D) Xenophobia

How many international heritage sites have been identified by UNESO in India :
(A) 10-20 (B) 20-30 (C) 30-40 (D) 40-50

Which of the following organizations normally co-ordinate with department of Tourism,
Govt. of India for Tourism Plan formulation :

(A) National Institute of Design

(B) Department of Town and Country Planning

(C) Indian Institute of planning and Architecture

(D) All the above

In which year the concept of sustainable tourism planning was introduced in tourism
promotion :
(A) 1970 (B) 1960 (C) 1980 (D) 1990

A card is drawn at random from a pack of cards. What is the probability that it is
either “heart’ or the ‘queen” of “spade” ?
(A) 12/52 (B) 13/52 (C©) 14/52 (D) 15/52

Assertion (A) : Sampling errors are differences that arise because a sample rather

than a census is employed in research.

Reasons (R) : The magnitude of the differences among the possible samples is an
indication of the amount of sampling error associated with the research
plan.

) Both (A) and (R) true and (R) is the correct explanation

Both (A) and (R) true and (R) is not the correct explanation

(A) is true and (R) is false

(A) is false and (R) is true

~

(A
(B
(C
(D

~

Which of the following is correctly matched ?

(A) If the type of data to be collected sensitive in nature, one should adopt Telephonic
Interview

(B) To find out the average number of tourists visiting a tourist destination per day
Personal Interview with Questionnaire may be used

(C) With restricted funds and ample time the most suitable procedure for data
collection is mailed Questionnaire method

(D) None of the above

For a given level of significance ( « ), if the calculated value of & 2 (Chi Square) is greater
than the critical value, the null-hypothesis is :

I Rejected

II Accepted

Il Sometimes accepted and sometimes rejected

(A) Tonly (B) II only (C) IIonly (D) None of the above

D —-9304 10



32.

33.

34.

35.

36.

37.

38.

39.

srorelt an faaett o fafes an fageft yft #t oM AvEe @ <), S S ©

(A)  foga-wom-ifa (B) fagdy

(C) FIEIHIfeT (D) SRS

IRd § UNESO R a1 Saiisia dvie o Tl bl 1 T

(A) 10-20 (B) 20-30 (C) 30-40 (D) 40-50

e fEisH & fau 9= dR W 9de faum aRd @R g1 = | 9 form T =) weg o
St ©2

(A) TS fesme Heam (B) R & ¥ feH fawm

(Q) vRdra TS T e (D) ST® |+t

e Hadd & frg ad ket w2ier fEeH &1 9ucrd 3% gl o :
(A) 1970 (B) 1960 (C) 1980 (D) 1990

TR o Tk Yohe B § SARdie § Teh Il FehTett 791 | o) Heqre & T 21e ot 9T <1 a1 g i
T 7 ?
(A) 12/52 (B) 13/52 (C) 14/52 (D) 15/52

HYT (A) : I H T F TIH T HIAVAT I STOTH & T i TG | AR o7 7

HTXOT (R) : N ASHT & Faiferd T o STYRGAT 1 7 Tofieh il © fafv S i <
qREH & IR |

(A) (A) 9 (R) SHI T2 § Afh (R) &l AT L B |

(B) (A)d (R) T WEl § AR (R) T = el o<l

(C) (A) & 8 F (R) T 2|

(D) (A) 7 € 9 (R) T2 g1

=1 o e W e § 2

(A) AfE g fHT T NThe Faeeiel &1 a1 el HIETehR WART 56 S Tehar T

(B) fafes fordlt qefeeh Tiden T | S ot Tieshl o 3T He&AT bl S o o geTerett
% g SAHIA TR 1 WA foha ST Hehel B

(C) HI¥ 3D UG SRSl ol Iohg A & feTq 1 R ISTt T geemaedt § formes sfavia
%0 UGl % T 31fereh UF T SUCTeHT wdl § |

(D) ST HiE &

T TS T Wedl & TR (o ) T fAw A x 2 (T WERR) 1 S Joo fashe god @ S &
W, 0T GReheTT B

I 3T&hd

I w@iea

I &Yl SRR K wfl SRR HwEAT

(A) ®IAI  (B) @Il  (C) HaA I (D) U ohlg Tal
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40.

41.

42.

43.

44.

45.

A bag contains 4 white and 3 Black balls. Two balls are drawn at random one after the
other without replacement. Find the possibility that both balls drawn are black :

(A) 1/9 (B) 1/8 © 1/7 (D) 1/6

Assertion (A) : Electronic computers have virtually revolutionised the management
of information systems.

Reason (R) : The computer can be made to preserve and memorise a certain
information and data for long periods so that these can be used in the
light of information and data in the future.

(A) (A) and (R) both are correct but (R) is not the correct explanation
(B) (A) and (R) both are correct and (R) is the correct explanation
(C) Only (A) is true

(D) (A) is wrong and (R) is true

Match the following :

(i)  The act of putting the message in (a) Transmission
suitable words, charts and other
symbols for transmission

(ii) The act of saying, sending or (b) Encoding
issuing the message

(iii) The act of understanding the message (c) Response
exactly as it has been sent

(iv) Reaction of the Communicatee, by (d) Decoding

way of reply, action, use or storage
of the massage

i ii 1ii iv

= >

)
)
)

CleEE
Qo o o
o o o
n oo n
© N N Q

To manage is “to forecast and plan, to organise, to command to coordinate, and to
control”, is defined by whom :

(A) F.W. Taylor (B) Henry Fayol
(C) Koonz and O'Donneal (D) Louis Allen

Which of the following is not an element/ principle of scientific management given by
F.W. Taylor :

(A) Work Study (B) Scientific Task Planning
(C) Scalar Chain (D) Standardisation and simplification

Which of the following is formal organisation :
(A) Division of Labour (B) Departmentation
(C) Span of Control (D) All of the above

D —-9304 12



40. TH I H ¥ THS I 3 el g &1 Q1 TSI Bl Teh o oG QO o aIgadl & e T |
e € foh S febrelt T8 Tis el o
(A) 1/9 (B) 1/8 < 1/7 (D) 1/6

41. AT (A) : TR FFR A I8 TE ¥ o I5fd Jared o shifd o & T
T (R) : Teh T G0 oY o fu sTowass gamisti 9 stichel o1 Ufefon 9 6ol HH &

T HrepeX aATe o wehd §1 Foed wfawr § oifeel 9 gaell % wie § s
AT TR T Heh |

A) (A) 3 (R) TH W& § oifha (R) W&t =amen 72 7

B) (A)d(R)SHI W&l T a1 (R) T AT B |

C) %ad (A) T F|

D) (A)7ad § 99 (R) ¥l 2|

o~ o~ o~ o~

42. 9 @ fgam &3 :

(i) Toreht Haw = wEl vl |l & (a) HemR@
31 Tl & g1 H=id el

(i) el Wee 1 dier], ST 9 i e (b) He TEH

(iii) G I SH TE § THLAA forF 7@ () W
g ST TR

(iv) <D I HT Tl 6 g WSl H1 TN, (d) hegaR
TR W A Fharf-erd T

i ii iii iv

(A) a b C d

(B) a d b c

© b a d C

(D) d b C a

43. Y[ & Hadd § ¢ afaseroi g A oAE, Senfad S, A AL, THed REl 9
T e’ aftr fores g S T R

(A) THTH], R (B) T e

(©) T T -3 (D) ¥ T
44. TF =] ooR g U T faam yerem o fagia/anes = 8 § e 7= ¢

(A) HE I (B) SR & e

(C) WM g@en (D) HITehIehT0T o FREATHLT
45. 9= & 9w foenfis §eT 7 2

(A) 9H % 3ITHH (B)  fasmfitehan

(C) feron wm (D) W6 ft
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46.

47.

48.

49.

50.

Match the following :

(i) Cash Account is related to (a) Personal Account

(if) Capital Account is related to (b) Real Account

(iii) Depreciation is () Nominal Account

(iv) Discount allowed is related to (d) Nominal Account
i ii iii v

(A) d C a b

(B) C d b a

©) b a c d

(D) C b a d

The dividend policy of the firm has no effect on the value of the firm. The concept is
given by whom ?

(A) James E Walter (B) Myron Gordon

(C) Modigliani and Miller (D) None of the above

Which of the following statements are correct :
(i) NPV is non-DCF criteria

(i) IRR is DCF criteria

(iii) PIis DCF criteria

(iv) ARR is DCF criteria
(A) i&ii (B) i &iii
(C) iii &iv (D) i&iv

Which of the following is not correct :
(A) Capital + Liabilities — Assets = Zero
(B) Withdrawls by the owner would reduce both assets and owner’s equity

(C) For nominal account the rule of the double entry system is : debit all expenses and
losses and credit all incomes and gains

(D) Capital = Assets + Liabilities

Higher CA/FA ratio indicates :

(A) Conservative policy (B) Average policy
(C) Aggressive policy (D) None of the above
-00o0-
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46.

47.

48.

49.

50.

=1 o1 T =

() IR e Hefud © (a) ATHT TrE
(i) UST oien Heifyd § (b) aTEdferR oi@n
(iif)  STORIEE § (c) dwid e
(iv) w2 wipfa Fefed § (d) wid e

i ii iii iv
(A) d c a b
(B) c d b a
© b a C d
(D) C b a d

Tt AT AT 1 HE R WS TR TR Uedl | T8 uRon fhe fage gr femn wen
2?7

(A) S 3. deX (B) HIE e
(C) Wt T faer (D) SW® HIE &
e § @ e foeron @ €72

(i) NPV =l non-DCF @ # o |

(i) IRR I DCF 9fHa § & |

(iii) PI I DCF i # < |

(iv) ARR ! DCF 9 § < |

(A) i3WRii (B) i MWiii (C) iii 3MRiv (D) i3iRiv

=1 o 9 i e = g2

(A) TS + < — TRt = 3T

(B) Hifeieh ERI foRT 7T 3797= | STt Uel mifereh ki g9l I & %Y B ¢ |

(C) Hmid oran & fau et wfafe qde ¥ 1 Sfoe &1 gdaee 9t @< 9 wifar qen »fee &
s ot T 9 el

(D) Yoit = Tt + S

3= CA/FA 3191 90T §
(A) Fe i (B) sira fa
(C) emhiusk ifa (D) W HIE Tol

-00o0-
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